
Reff  Profiles™ Installation Instruction

Reff Profiles™  
August 13, 2019 

Part Number: 6TP00600
Sheet 1

5/16-18 x 1 ½” Hex Bolt #14 x 7/8” Pan Head Wood Screw 

A B

HARDWARE LIST 

6tp00600_190813_hardware.ai

51222186TP41169

6tp00600_190813_hardware.ai

Center Column Tables 
Reference Number: 6TP00600  

Tools Needed 
Electric Drill  
Power Driver 

• Center Column Assembly

• Base Weldment

• Worksurface

• �Height Adjustment Lever Kit (comes with attachment screws) 
for Height Adjustable Tables 

Fig. 1

STEPS: 

For Fixed Height Table  
(Fig. 1) 

1.	� Position the Center Column Assembly  
on the Base Weldment and affix with  
(3) 5/16-18 x 1 ½” hex bolts (A) from  
below the Base Weldment. 

2.	� Position the Worksurface on top of the  
base weldment, align the predrilled holes  
with the holes in the top plate, and attach, 
using (8) #14 x 7/8” pan head wood  
screws (B). 

3.	� Adjust levelers as necessary. 

A

B

Center Column Assembly 

Worksurface 

Base Weldment 

View from below

Levelers



Reff  Profiles™ Installation Instruction

Reff Profiles™  
August 13, 2019 

Part Number: 6TP00600
Sheet 2

6tp00600_190813_adjustable.ai

Center Column Tables 
Reference Number: 6TP00600  

STEPS: 

For Adjustable Height Table 

(Fig. 2) 

1.	� Position the Center Column Assembly on the 
Base Weldment and affix with (3) 5/16-18 x 1 
½” hex bolts (A) from below the Base 
Weldment.

2.	� Position the Worksurface on top of the base 
weldment, align the predrilled holes with the 
holes in the top plate, and attach, using (8) 
#14 x 7/8” pan head wood screws (B).

Fig. 2

View from below

A

B
Center Column Assembly 

Worksurface 

Base Weldment 



Reff  Profiles™ Installation Instruction

Reff Profiles™  
August 13, 2019 

Part Number: 6TP00600
Sheet 3

6tp00600_190813_adjustable-step3.ai

Center Column Tables 
Reference Number: 6TP00600  

For Adjustable Height Table  
(cont.) 

(Fig. 3) 

3.	� Attach the Height Adjustment Lever Kit to the 
underside of the worksurface, using the (4) 
wood screws included with the kit. Be sure to 
install the lever so that it is centered on the 
side of the table closest to the center column 
(i.e., the long side on a rectangular table). The 
handle should be installed so that it is parallel 
to the worksurface edge.

4.	� Adjust levelers as necessary.

Fig. 3

Plan view  
(Worksurface edge defined for clarity)

Center Column Assembly 

Worksurface edge 

Height Adjustment Lever to be 
installed centered on the long side 
of the worksurface, handle parallel 
to the worksurface edge. 

Height Adjustment Lever KIt  
(with (4) attachment screws) 

Base Weldment 

Levelers

View from below

View from below


